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Which one of the following is no¢ Co
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FAES R —2030"% & 04 T -wgt

25. 4 main goal- Trect 25. .
ng the 04 main goal-groups o :
o rakhand “Vision —2030° 7 i3, FE A 4 2R TS w0 Y 1
(A) Sustainable Livelihoods (A) T IATHT
(B) [nnovations (B)
(C) Social Development ©) gmtres feep@
(D) Environmental Sustainability D) qatacefia frar
26, Whatare Thap, Naat and Jyunt; 9 26. oM, AC W ak—cﬁ FE ?
o 5 b
(A) Types of architecture (A) vERfET FH % THR
B) Types of dance B) T9 * IR
(C) Types of paintings LA (C) Temrpet F JHR
(D) Types of folklore Es% (D) Al & JhR
27. Match the List — I with List — Il and chooge 27, g —1 % G -1 & FARa HIfR 3
the correct answer using code given beloy, gfei ¥ = @ ™ R F T &
List—I List - II IR G |
a. Bhotias 1. Nainital, Dehradun el -1 et - 11
, a. Wi 1. Fhare, g
-1, b. Buksha 2. Chamoli, TR, AT
Uttarkashi b, R
c. Jaunsari 3. Udhamsingh & > H G
Nagar, Nainital -
d. Tharu 4. Tehri Garhwal d. = & '
Code : e
. b o d a b c d
A) 2 1 4 3 (A) 2 1 4 3
(B) 3 2 1 4 B 3 2 1 4
©) 2 3 1 4 ©) 2 3 1 4
D) 4 2 3 1 D) 4 2 3 1
28.  Who honored the famous poet Lokratan Pant 28. Wig Hid At da = e THH 9
by naming him ‘Gumaani Pant’ ? I AW ¢ FRG TR e ¢
(A) Raja Gumaan Singh (A) TN TE g
(B) Raja Veer Singh (B) T &R g
(C) Raja Gumnaam Dev (C) TS T
(D) Raja Lalitshoor Dev (D) T W 3
S

-7-
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24.
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Tt
o fafay
W@gﬂfﬂﬂ SICCa ]
. ignotwor 2L it 5 & SR —aT ST Tl 3 R
Which of the following orname ﬁ'ﬂﬂ T % 2
N A, ‘k '.7 .
in nec B) Tilhari (A) o (B) l%lﬁlgﬂ
(A) Tugyal ( : m
(C) Gulband (D) Lak '
fire y gaferd T |
Match the following.
List -1 List -1 ~1 e et
a. Tungnath 1. Uttarkashi a. QI 1. IR
b. Hat Kalika 2. Almora b. I SHIICTeh] 2. FHIST
c. Golu Devta 3. pithoragarh C. ’“51 aaf” 3. ERIGI
d. Yamunotri 4. Rudraprayag d. 44 Il 4. ¥
Code : e = [a]
a b ¢ d a b ¢ .d %
A) 1 3 2 4, (A) 1 3 2 4 E1zEE
@ 4 3 2 1 ®4 3 2 1
©3 4 1 2 ©3 4 1 2
m2 1 3 4 @) 2-% fk;= St
Like Amarnath, a natural ‘Ice Shivling’ is ST S TG EI'I'é_‘?ﬁEF s o TRaferT
formed at which place in Uttarakhand ? SEvE ¥ foRE T T S g7
(A) Ruchh Mahadev (A) TTO TEled
(B) Timmersain Mahadev (B) o1 qEred
(C) Binsar Mahadev (©) forgx gETed
(D) Khatling Mahadev (D) Qe L CC]
Given below are two statements, one labelled = E?I qoded ﬁa ™ %, Th H B (A)
as Assertion (A) and the other labelled as a1 {g} ! SR (R) Hgl T 2, &S
Reason (R). Answer by using the code given gErd T TN —aﬁ-& |
below. q '
Assertion (A) : Srinagar is a hill town herd (A) ) & o HE] % el
situated on the bank of river Alaknanda. FrERe] FE % R e 2
Reason (R) : The only central university in HIOT (R) : TST <hT AT
fovafaenem o o 7 |

the state is located at Srinagar.

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not a
correct explanation of (A)

(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

(&) (A) 3 ®) T T R I R®), (A)F
& TR 7

(B) (A) 3 (R) I | g, R), (A)
Sahal it g (R), (
©) (A) TR B, W (R) ToC 2

(D) (A) T 8, g (R) T &

-6-
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ek » . .
i slace i8 NOY 0. Pfefiga #f & #-mr e oA § Rr
29.  Which one of the following P :{—E‘pf % .
situated in the valley ?
l/l\“)m:u "I]a L (B) Pithoraga"h (A) 3E|E” (B) foeitre
( urol: . (C) F’ﬁ‘i aﬂ(
(C) Lohaghat (D) Baijnath 20 P
30. Te=ffag 4
: the 4 o udt gafera gm 1 =T
30. Choose the correctly matched pairs out oh Hifa . il R
following : l ) @
1. Centre of Excellence ' - - Y e
for Aromatic Crop — Selaqul, Dehra Sl Hg _ w’ Al
2. Aroma Park — Kashipur, 2, Qﬁtﬂ uTeh — Y,
Udhamsingh Nagal 3vmfEE
3. Soil Testing . 3. 7 gfreror
Laboratory — Bhawali, Nainital TVTSITAT _ qreAt , At
(A) Only 1 and 2 (A) ad 1 3R 2
(B) Only 2 and 3 %ﬁ@ (B) et 2 31 3
(C) Only 1 and 3 EE-E;%' (C) e 1 3 3
(D) All 1,2 and 3 are correct (D) &t 1,2 3 3 9El 8
31. Given below are two statements, one labelled 3]. = @ g few @ FRRED Bl HA (A)
as Assertion (A) and the other labelled as qen @} I HRUT (R) hal T 2 E &
Reason (R). Answer by using the code given eI J IE®W aﬁ-q |
below. . 3
Assertion (A) : Dobra-Chanti Bridge is the R (4) : S-S 3¢ al
longest suspension bridge of Uttarakhand. T e g 2|
Reason (R) : It is built on Tehri Lake. ST (R) : I8 foglt sfict o T 2l
(A) Both (A) and (R) are true and (R) is the @A) (A) 3R (R) THT T 7 I (R), (A)FH
correct explanation of (A) T TSI B
(B) Both (A) and (R) are true, but (R) is not a B) (A) 3 (R) QT EEl 8, T (R), (A) ST
correct explanation of (A) T TRt T8 B
(C) (A) is true, but (R) is false (C) (A) &I ?, Wg (R) TTeAd 2
(D) (A) is false, but (R) is true (D) (A) T 8, T (R) H& B
32, He is son of Shiva and is also called 32. 98 @ & 2 3N weA ft FET 7 |
Shadanan. A town was established after 3g% W W T T oft wenfa ® ) T
his name. But there is no temple of his in IGHT PATS § I3 Al T8 8 | T§ A
Kumaun. Who is the God ? TR ?
(A) Aditya (B) Ganesha (A) 3T (B) O
(C) Kartikeya (D) Dattatreya (C) WIfciehd (D) &R
-8-
A
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what is the rank of Uttarakhang in g h e )
guslni““hlc Development Index (SDQ] 33, Afa TN E{RA ' Hdd TdahiE H?I‘JFFE
clcased by NITI Aayog ? )20, (v .38, 2021 ¥ ITEE H PN IE 7
)4 S (A) 4 8) 5
(©) 7 (D) 13 8.7 O} 18

who among the following recongg,

I3 yishwanath temple situated in Utt;‘:;lt(edh 34, JACEHEN srafea fveny & af=t =
; . ashj 9 . .
(A) Rani Khaneti  (B) Rap; Nepai, Gﬁﬂﬁf;{ﬁﬁﬂ]ﬁ?ﬂ | ﬁ(%ﬁm a1 7
(€) Rani Kamavati (D) None of . (m; haviER (D) A R

3. Match the following lists and select the

correct answers from the code given 2 35. Tefefad Fﬂ%ﬁﬁ £l ﬁﬁﬁﬁ A ﬁq
ow.

List—1 List 11 @%%Wﬁwml
= ‘{{v'ﬁ—l ;E,ﬁ_[]
& Eancabey 1. Rudra Prayq, a. 51 g 1. TESAT
Biosphere sRferR
b. Govind National 2. Almora b. Mifemg UF 2. AHST
Park 3T
c. Binsar Wild Life 3. Uttar Kashi c. R amsia 3. sl
Sanctuary Y
d. Kedarnath Musk 4. Chamoli d. hERATY 4. S
Deer Wild Life el
Sanctuary ks S ST
Code : == %<
a b c d a b c d
(A) 4 3 2 1 (A) 4 3 2 1
B) 3 2 1 4 B) 3 2 1 4
© 1 4 3 2 ©) 1 4 3 9
(D) 2 1 4 3 D) 2 1 4 3

36. Father Reverand Bedan started missionary 36. qlaﬂ ﬁ“@ EESk =l DIGIEIRO TRY

activities from (A) T | (B) 3eHIS
(A) Nainital (B) Almora
(C) Pithoragarh (D) Pauri (©) foreferre & (D) Wt &
—_— P

- s

Scanned with ACE Scanner



N}
3. fﬁtqﬁﬁﬁaa 92/24
37. Read the following statementf‘. : ngin spring : H) F W™ "
1. Khuded songs, are primanlys . @3 . o -
season. . Kumaun Ty Rl E TS &y 3
2. Khuded is known as Nar 2 m y 3
language. ) . ) . @is e
. ‘Month of Dance Wﬁﬁéﬁ?ﬁ T F E
3. Chaita is known as l ST T 7wy W
(Naach Ka Mahina) 1n Garhwal. ¢ } % |
ition 0 - T
4. Vasanti songs, express the tradi e BE N
Phooldei. EF(%% |
Choose the correct option : i ﬁm T Y .
(A) Only statements 1, 2 and 3 are correct (A) ey FUT 1,25 3 ¥
(B) Only statements 1, 3 and 4 are correct ' (B) aﬁa YT 1,3 T 4T §
(C) Only statements 2, 3 and 4 are correct © %HFT FU 2,37 4 wh
(D) Statements 1, 2, 3 and 4 are correct (D) %y 1,2,319 4 g %
38.  What is the Brand name given to Uttarakhand  38. It & BYH IR FReT et )
Handloom and Handicrafts products ? HT 5 g fear w 2
(A) MONAL (B) GANGA (A) W (B) T
(C) HIMADRI (D) HIMCRAFT (©) Ty (D) e
39. Read the following statements : 39. ﬁ‘qﬁﬁga HYA H q% :
Statement 1 : Ramman is basically a P 1 : TV 4 &9 § oIl SIS
festival celebrated in Salud-Dungra of > TAS-SUT | BT S 1T BT
Chamoli district. (3@) 2 |
Statement 2 : In this, collective worship, FUF2 Wﬁ ‘QTITQ%HS T, m’
devyatra, folk drama, dance, singing etc. are ;
NIEZIER) TRA 371 STRISH B # |
organized. » T
Which of the above statements is correct ? ST HUF 7 HH-AHE R 7
(A) Only1 - (A) F 1
(B) Only2 '@Wﬁﬁ'ﬁ (B) i 2
(C) Both1and?2 (©) 13 231
(D) Both 1 and 2 are wrong D 1 3R 2 3T TTer

— = 4________---IIIIIII‘

-10-
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who among the following was the Coyps

eligi ief of o T pog
40. 2s well 88 religious chief of S”dalshan Sl|1 oQE 40.
(A) gumudanand - (B) Manoray,

©) Haridutt Sharma (D) Gumap; Pang

.+ Match List = [ with IjiSt —IT'and Select ¢
41, correct answer by using code givey, A e 41.
W the

Jists -
List — 1
a. Rakshabandhan

List - |

1. Saptkup, d
2. Rajzat

3. Chaukhamba
4. Shri Mukh Mountain 4. Rishj Tarpay;

p. Devangan

c. Nandadevi

Code :
a b | c d
& 3 2 1 4
ES(B) 4 1 2 3
c© 1 3 4 2 .

D 2 4 3 1

4). Adwait Ashram, Mayawati is related to which 42.

of the following place ?

(B) Lohaghat
(D) Nainital

(A) Almora
(C) Rishikesh

43. Which of the following is the largest grown 43,

crop in Uttarakhand ?
(A) Maize (B) Rice

(C) Wheat (D) Fruits and vegetables

4. Which of the following temple is not a part of
Panch Kedars in Uttarakhand ?
(A) Tungnath B). Kedarnath

(C) Budha Kedar (D) Rudranath

44.

92/24

Creferfiga # @ B GETE o Tkl v
grieast o 7
(A) DA (B) TR
(C) it i (D) T 7=
gt 1 R g - @ gAfe HifST SR
it o ) fou T e < ST L T
R

gt -1 g - 11
a. T&TEEA 1. Ta%US
b, TETH 2. TSI
c. e 3. TG
d. i@ wda 4. =M ool
%

a b ¢ d
A Bt w iy Ly o
® 4 1 23 @y
©) 2L ¢34 2 %ﬂﬁﬁ
D) 2: 4 3 1
F1ed 3T, HTETE o ey e 9 foRd
WEAR ?
(A) IFTHISI (B) TETER
(C) iR OIERIGI]

T geg 3AfUs 3 ?
(A) T (B) =T
© M (D) 1 TE Wit

et 3 @ e—ar Tl STUETS % TEwer
e adi g v
(A) T

(C) @I hR

(B) She AT
(D) 5T

=
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E;%: 45 923
¢ the . ﬁ 44
. qrandsel®” e -1 %

45 Match List — I with L.,lSt code given pelow ‘ﬁ%ﬂﬁ X T-ﬁg.ﬁﬁ ~n g gﬁﬁ:l'ﬁ ﬁﬁm h
correct answer by using IN T f BiD B H W =
lists. PR | | ' o

List
List - I . Tl - g T
- n —
a. NarNarayan - A" ARG T4
Aashram Manthan b. EFIfﬁ 2 :
: 2. Samudra c kERDE]
b. Oulupi - gt
. 3. Sem-Mukhem i 3. 8y &y
c. Vasuki : srinath . HTfora 4 s
: i ety
d. Kaliya 4. ShriBa E}% L
[Lb
Code : B P a b ¢ g4
a b ¢ d 2 4). 4 5ot
3
@A 4 1 2 ® 3 5 5 .
® 3 2 1 4 ©
© 1 3 4 2 L33 # 2
® 2 4 3 1 (D)2, 4 -8 .4
46. Whiih (cl)t; the following pair is not correctly 46. ﬁ"?ﬁﬂc@?{ T S- Jm gﬁ%ﬁ B
matched (A) T ‘
, - YR 1 9fg T
(A) Ganganath — the favourite God of R
shudras (B) 89U - @l B Far
((CB)) (I;jhetrapal — aminor Gc;ddof tf:z;dssthe (©) g _ it v
aumu — protects ana des EIR
cattles A
(D) Haru — God of hunting (D) TR — TR &1 T
47. In the ‘Export Preparedness Index 2021 47. YA SR gRI qﬁf, 2022 °H I ‘T
Report’ rel d by th t of
eport’ released by the government o RS 2 A T SaTETs
India in March 2022, what is the rank of ) 2021 - A SISt
Uttarakhand in the ‘Category of Himalayan Temertt Tl hi Sofe § PH-wwE R 2
states’ ? IR
. =_H B
(A) First (B) Second (A) ®)
(C) Third (D) Fourth (C) d&a (D) 5gd
48. Which of the following pairs is not correctly 48. Frfafaa o q - qH LHEG] 77
matched ? My
A mg{ It
(A) Kashipur — Govishan ) ( W
(B) Devprayag - Devnagar (B) >
(C) Almora —  Khagmarakot (C) I e -
(D) Gopeshwar — Gothala (D) TR - e
-12-
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92/ |
N 52-
% jon hclwccll :?T’h 3N ’III@l % AT AR d979 547 5;
s continuous tens olish ent | 3114 N&Eﬁ 3
52, Therewa ;(O'l,,-l has. Final 'n};:"“ - T . 2 ;:';:ﬁ TN Ferferq
q 10T ) 1C :HI%qUI
B {0 attack Nepal- wh f those L F Uh 390 g i
four battalion: { leading any 0 ﬁh—{:ﬁ Uk gt
(he following Was 10 TR @1 ?
battalion ?
i (A) ST -reet witey
(A) Major General Mot
(B) Major General Giles
SoniE e (C) TR-Ser et
(C) Major General Ochterlo @’ 3[d]
; (D) U~ B=E
(D) Major General Hudson ==
the following ruler of Tehri State 2 ﬁtq%-@a ¥ ¥ et famma & fra o
53.  Who among the ¢ }
was adomed with the title of Companio oh ! fofew wer gro weafRm a1fe 3fe
t1s . .
India and Night Commander by the Briti T sz FEvE 6 uE 3 ﬁl‘{ﬁﬂ
Government ? foram T ? 56.
(A) Narendra Shah (B) Kirtishah (A) T3 (B) hifcremg
(C) Manvendra Shah (D) Bhawani Singh (C) HHE=IIE (D) ot T8
54. Read the following statements : 54. TefaRea wemi @ qé :
Statement 1 : The objective of Mega HUT1: 'EI'HT sjgiig. el T e Hff,
Industrial and Investment Policy, 2021 is to 2021 %1 35 TF | Nenfirhison, i
promote industrialization, economic growth f¥em a1 AT <Al EEEN TR
and employment in the state. U 2: T8 $ify 31 qT‘Ef, 2025 T THTE
Statement 2 : This policy will remain eyl 57
effective till 31 March 2025. IFd HAT H F -1 FE %/% ? .
Which of the above statement(s) is/are correct ? (A) F9d 1
(A) Only I
e 2
(B) Only 2 (B)
(C) Both 1 and 2 (€) 130 2 g
(D) Both 1 and 2 are wrong (D) 1 3R 2 21 Terd @
-14-
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.1 with List— I and
h List Twit : ChO()
55. zifrer from the code given beloy, * “rregy 55, Tt — 11 G - 11 & ghfera o 3
an

List -1 List -y A R e # A 7 IW I
(Construction) (Situateq, gt -1 T - 11

5. KotKi Mai 1. Tehrj (Fmion) (erafeer)

|de Pokhar 2. Al a, I hH T 1. fe=h

- e HATHST
Fort Moira 3. Baijna b, T, IRET 9, ,

) ; ST

d. Purana Darbar 4, Dwarahg c. B WEA 3.

d. U SR 4. GUIRIE
Code: .
R :
_3,b-4,c-2,d—
(4 a-3b-%hem2d-1 (A)-a-3,b—4,c—2,d-1
(B) a-3,b-2,c—4,d-1
(C) a—4,b—1,c-2,d-3
(D) a-4,b-3,c-2,d-1

(B) a-3,b—2,c-4,d-1
(C) a-4,b-1,c-2,d-3
D) a—-4,b-3,c-2,d-1

5. Inthe context of Uttarakhand ‘One Digrics 56.. IAUWUE TH Fyer-a1 Icarg (A 2.
-Two Products’ (ODTP) scheme, which of the

- Ao % iia T 7 | B
following two products have been selected 4 ﬁi) * a
for Uttarkashi district by the M.S.M.E. ImE, . 8. . 3. o grn Soertt
Department ?

TSRt R mE 2

(A) Bakery products and mushroom (A) IH{ 3G o AIEH

(B) Handloom and handicraft products and

S (B) TUHTHT Td TEARIGY 3caIg 9 Frhted
aromatic herbal products & 3
(C) Woolen handicrafts and apple based fy e
products © S a7 {
(D) Herbal products and wooden furniture (D) T ICUTQ T AHG! I HrAT=
57. The name of Sneh Rana is associated with 57. g Ton 1 AW R Tt § Tt ® 7
hi 2 ;
which sport (a) Yefie
(A) Badminton [=]%:3[m]
@) Tre R T‘E
(B) Cricket [=]¥y
C 656133!
(C) Kabaddi =0
(D) Boxing ©)
m— I
-15-
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.lﬁ | . 58
E! : . the . )
. 11and selec! RS B )
(o 1 with List- W -3 {
58 Match List -~ 1Y g the cod®: &Q ™ ot ﬁeﬁ%m '
correct answer B List— 1] é m I EA| Zﬁf&m 3%
List - ! i Towns) ) !ﬁﬂ ~1 ERF{ % |
(Types ofrlo“". L Auli, MaSOOrl’ (?lgﬂ a; ) zﬁﬁ ||
a. Religious centre Ranikhet a, %:nﬁh; % (YTSI)
agar,
b. Tourist 2. Srinagah & L. 3, mh
. louris . Jmora b t”: TFﬂ'a ’
destination A har. Ti~Tey 2
c. Capital 0 Bageshwab WE"T ,
e Joljeebi ¢ LRI 3 Tﬁ; '
) 4 Badrinath, l ql;“ . " ) ia(,
d. Trade Fair Town % Rishikesh, d. Eq-rq-r&q; 'BWT Wﬁ
Jageshwar N 4. w, ;Eﬁ'%%
Code : e SiveR !
a b (¥ d a b
a1 2 3 4 a1 ; d
®4 1 2 3 ®4 ; 5 4
©3 4 1 2 ©3 4 7 3
™2 3 4 1 )
59. Consider the following statements : 59. Jﬁ":ﬂ%’lﬁgﬁ T | I iR .
1. Industrial development plan was launched i
in Uttarakhand in April, 2017. L. 3Tt frehm e s 2017
2. This plan will be completed in March, TGS § Wgﬁ |
2027. }
o 2. I7 A W 2027 # quT At |
ich of the above statement(s) is/are S 3 .
correct ? Iﬁlil ﬁﬁaﬁq—m/ﬁgﬁ%/% ¢
(A) Only I (=] _;I’@ (A) $ad 1
(B) Only 2 O (B) ad 2
(C) Both 1 and 2 (C) 1 3R 2 gt
(D) Both 1 and 2 are incorrect (D) gHT 1 3R 2 T 8
. Wbt g i, oo 8 8 et
wi
(Garhwal) ? rinagar TR (TTeATd) QTR ?
(A) Keshwraimath (A) HYEIHS
(B) Shamshahi Bagan (B) QIRITE! ST
(C) Vairagna temple group (©) AT AT aqe
(D) Kashmiri
miri Hat (D) Hy g 4
\
'8,
-16-
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ol

62.

63.

Ny

only the first half of the E“ghsl
d, then how m
Kand R?

(ol

c\ /€l 'SE

aly
any letterg wil] L \bel iy
petween

hEre
(A 10
(C) 16
D) None of these

o
e

E-"

p,Q, R, S, T went on a picnic, p;
but Q is not the father of P, R ; iS the 5 NofQ
who is brother of P. T is the wife SoF SOH S,
How many males are present ip this gr, :

A) 1 (B) 2
© 3 (D) 4

If the same functions are applied
results in each of the thIeePSetS t(())fr;?lit:bthe
given below, then which of the ‘followne 3
number will replace the question mar ?)ng
the second set of numbers ? In

18 he N

61.

62.

63.

92/24

“W@mmthww

e SR ot A T A AT
1 qere fem 2, @ fRa FeE K 3 R B
A &N 7

(A) 10

(B) 14

(C) 16

(D) T ¥ 1S TE

P.Q,R, S, T ferer = forw < & | P, Q¥
g, %Q,Pwﬁ?ﬂﬂé‘r% | R, S T
AP AER | T,sH U B
w%ﬁﬁmﬁg@m@m% ?

(A) 1 (B) 2

©) 3 (D) 4

Ife =1 foem U Tt %y T § aieTmt
1AM < ToTe THE Fisken AR =/, 99
TE3T o Tgd T | 9 g g ()
ﬁqﬁ%aﬁq—ﬁmaﬁwﬁaﬁﬁ ?

(A) 60

o4.

65.

(B) 30

(A) 60 (B) 30

(C) 20 (D) 10 ©) 20 (D) 10
If79*21=100,77 ©52=25,100@25=4  64. AR 79 *21=100,77 ® 52 =25, 100 ® 25 = 4
Elll(l)dli#4=64then T 16#4=64TF

36*48 D16 @ 4#21="7 1036* 48 @ 16 ®4#21 =19
(A) 100 (B) 1000 (A) 100 (B) 1000
(€) 1100 (D) 1084 (€) 1100 (D) 1084
Ina code language ‘CLARITY is written as 63.

‘176’. How will ‘FROZEN’ be written in that
language 7

(A) 186
(C) 216

(B) 160
(D) 168

e ——————

FE W& H CLARITY’ ® “176° Ry =1
TRl &, A T 9§ FROZEN' N Y
o seam ¢
(A) 186

(B) 160
(©) 216

(D) 168

-17-
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66.

67.

68.

69.

70.

th ugusts
15 A
What was the day of the week of

1947 ? iday
(B) Fri
(A) Wednesday (D) Sun day

(C) Saturday o
nd F are standifg

Six persons A, B,C,D,Ea et

is be
a circle. B is between D and C, A i
E and C. F is to the right of D. WhO S

Aand F?

(A) B B) C

(©) D (D) E
Match the following.

Clock time Water Image

a. 8:15 i. 10:15

b. 9:20 il. 7:?(5) Eﬂp}g
c. 10:35 iii. 9: el
d. 10:55 iv. 7:35 @h’ﬁﬂ

a b c d

A) iv m i i

B) i i oiv i

) i v i i

M i d i v

A person starts running from a point towar@s
North and after covering 3 km, he turn to his
left and run 7 km and then again turn to his_
left and run 6 km and in last turn to left again
run another 11 km. Now in which direction

and for what distance he has to run to reach
his starting point ?

(A) NE, 5 km
(C) SE, 6 km

(B) NW, 5 km
(D) SW, 6 km

Arrange the given figures into three groups,
using each figure only once.

A

QOLA OO AN A

1 2 3 4 ? 6 7 8 9 : . : 3 US p > s 9
(A) 1,5,8; 3,4,7; 2,6,9 A) 15,8 3,4,7; 2.6,9
(B) 1,3,6; 4,5,9; 2,7.8 B) 1,3,6; 4,5,9; 2,7,8
© 1,3,6; 2,5,7; 4, 8,9 (C) 1,3;6; 2,5, 7; 4,8,9

(D) 6,7,8 1,3,5; 2,4,9 (D) 6,7,8; 1,3,5; 2,4,9 o

67.

68,

69.

70.

) 92/24

T 1947 ﬁw—mﬁ:ﬂn
(A) KCE Iy (B) IhaR ?
;:) NIEC (D) faap
D.thA,B,c,D,E FO% 31 3
%laiz;:i;waﬁaﬁlaé,}saﬁrc%ﬁa?

WE F

qaqg,,n? | A3l F oy
(A) B B) c
© b (D) E
ﬁwf%f&gﬁrﬁﬁ%a%'

T g e Uffag
;gés 1. 10: 15

c‘l‘_o 1. 7:55

c 10.35 iii. 9: 19

- 10: 55 iv. 7:35

a b

(A) v iii 1‘; (ll
B i v
©. i . g A
() I
o N e 33 3 I R 4 i
T M3k A % e, 7w s

Wﬂiﬁinm,g:r:amraﬁaﬁt :
11hnasm%|m3ﬁmmﬁg
T Tg= % o e fen 1 aiv g et
7 Qe dm 2
(A) SR, 5km  (B) I YR, 5 km
© T E, 6km (D) 3R 9, 6k

4 T i § | T # P & W
ST A §U A T & i |

-18-
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92/24

The Jefault view layout in MS'WOrd ‘m@m TR | ]
1. i print Layout — (B) Fuly Screqy 71, A wE-g3 § Asr3e * fewiee 77 B
() Web Layout (D) Outline ~ “ing ) fe dame (B) o ThE AfEn
ol (C) I8 AL (D) ATIEATZA
\\zhich of the following are primary )
Dl ¢ ; J s
12. $9 - 5
N Metamorphic Rocks 72. fr @ @ BE-R El
(B) gedimentary Rocks (A) EL I %Fg'ﬁ
() lgneous Rocks (B) JEEE! =g
() Clay Rocks Mg (C) AT TgH
); (D) ¥ =M
who said that “Indian Nationg] C )
wsablished a5 a “Safty Valye» g Swag 73, TR wE %. AT T s
e in India” ? ° the Britigp AT R # fafew w3 foR < awd
e ' Tea » % w9 8 6 F0 F /A B
(B) Keshav Baliram Hedgewar (A) =5 el
B) Y€ A FSNETR
(C) Lala Lajpat Rai ®)
(C) ATl AU T
D) Aurobindo Ghosh
) o (D) I =y
74, Consider the following statement ang then 74. T=faRas s W RER Hifvw 3tk
choose the right answer using the code given dausETa = ﬁ‘{Q ET Ay TH T H
below : o S\ -
Statement-1: British Government passed | o .
Varnacular Press Act in the year 1878." -1 : fafew wem 3 1878
Statement-2 : The objective of this Act was » o sttt i T \
to provide more freedom to Indian newspaper. HYA-2 1 Y s = I A
Code : TR 931 o Afreh Saaean & o |
(A) Only Statement-1 is correct He:
(B) Only Statement-2 is correct (A) S HYA-1 T 2
C)B _ tement-2 are
(C) Both Statement-1 and Stateme (B) et T SRR
wrong © '
HYA-1 § HYA-
(D) Both Statement-1 and Statement-2 are 2 ﬁ Tdad %
- (D) HU-1 3 HYH-2 1 T }
\ e
-19-
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19: Match List
correct ans
lists.

List -1

a. First Schedule

b. Eighth Schedule 2.

c. Tenth Schedule

d. Eleventh Schedule 4.

Code :

a b
A) 1 2
(B) 4 3
©1 3
D)2 3

wer

7 1 y |
1d select il [ 5‘ Iﬁﬁ‘ [ % Fﬁﬁ gi"z‘ Eﬁ
th . |
given peloV gt B fom ' Hoferq zﬁﬁm
S g T %2 =y po 46
Ry
. || '
List ; W -
t
Namé and €xt° o W -1
of States Tl . T 1
and UTS e % g 3
SpeCiﬁes 3THT ﬁm—r(
powers and b. e IR
ibilities T W
responsibilifi® "
of Panchayats Hite)
T ol
. Language c. eHt
of India T 3. R 3 ot 3
Provisions relating 4
to disqualification NN 4 e G
of MP’s and ﬁw
MLA’s % v
ﬁ . .F
G He :
a c d
A) 1 3 4
(B) 4 2 1
(€). 1 4 9)
(D) 2 4 1
e

-20-
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I
Fa
N\
{
’ .o does NO
78, Which one of the following

. ]ce
ye fol tl
constitute the electoral colleg

of the President ?

iclative
(A) Elected members of Legislati
hi and Puducher™y

ya Sabha

Assemblies of Del
(B) Elected members of the Raj
(C) Elected members of the State
Councils
(D) Elected members of the LegislatiVe

Assemblies of the States

Which company has developed the Al tool
‘ChatGPT’ ?

79.

(A) Apple Inc.
(B) Google
[=]

(D) Accenture

80.  ‘Western Ghats’ are called

(A) Shivalik Range

(B) Sahyadris

(C) Vindhyachal

(D) Mahadev Hills

%3

!
(C) Open Al Eﬁ%;

Jection

Legislative

[=]

78,

79,

80..

=31 g e Y o S g

| (A) T 3T

21

mmﬁﬁqﬁ?ﬁwaﬁrm:@%?

(A)%c?ﬁaggéﬁﬁ%mwﬁ%
Pt aee

B T o % Pt e

() T foeret e 3 Pty ey

e

ferpferr fovam a2

(B) A
(C) 39 T 31d
(D) TR

(A) Rrenferss st
(B) HlTfs
ORERIES

DEGEREIER

——————

w22t
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B.

( \

hich of the following statements

iS/Q

St,,tement —1: MUDRA Bank wa 81.
3

jnder the Pradhan Manty; MUDR;‘&“nched

. : e :
ander Shishu, Kishore apq Tarun g pro"‘ded
Statement — chemes
(A Only ent — | :
(B) Only Statement — I
(C) Both Statements [ and I

(D) Neither Statement — | nor Stateme
nt ||

consider the following Statementg

I. Spyware is a program, whicp, S insg 82.
ed

on your computer and sepdg inform
1on

about you, without yoyr lmowledge

II. Phishing is an e-mail scam that appears
as an official communication from a
legitimate website.

IIl. Spams are bulk e-mails that comes from

unknown sources.

IV. Ransomware is a non malicious software.

Which option is correct ? 3
: E5E

A) LI Ok

(B) I, IV

(C) LII, III (D) 1,10, IIL, IV

Which of the following is not an appropriate  83-

constituent of the human capital formation 2
(A) Expenditure on education

(B) Expenditure on infrastructure
(C) Skill training
(D) Expenditure on health

92/24

= et o A P-w Fom wd R/F 7
THUA — 1 : Y1 ok T guEef g
AT 6 i 2020 T H 7 A

TR 11 : gr w0 fiyy, e otk oo

i & Ar=ia Jee ford e € |

(A) HadA A -1

(B) Had H I

(C) B HYA 13 I

(D) 7 HH —1 3R T HH - 11

FrafaRaa ot w fomm #X |

I TIERR TF T R, S ATH FAK

W ERTE Bl § 3 I THHH H
for amaeh W # SR ST 2 |

1. fERFT = e Hieren ? @ = 3y
Y ¥ Al TR F &9 A
IS ST B |

1L €09 oo $HeT & S 3I9a il |
A E |

v, FawaT U REuqul | 2 |

-1 forpea Tt 8 ?

(A) LTI (B) IL, IV

©) LILII (D) LIL LIV

fFrfefaa §f § FH-|1 T AT Ioft Fmio
%1 IUYHI UH TEI 8 7

(A) e W=

(B) U &< W

(C) hiwrer e

(D) W |

el —

-23-

Scanned with ACE Scanner



AR >

T L 921/24 E
& (1 and chooslew . 84, = -1 £l {iﬁ— 1na gﬁl%‘*lﬂ *Iiﬁq 3
. ith List— ; elow - .
84. Match List —»l.w.ntl:1 (he code give" b Hi feq e # & el I A T %
correct answer frof List | '
ist -
Blis ibility) - !
(Official) (Resporst” REUEE) (@)
ights
ad Of Welg _
a Sannidhata L S; feasures a GRygm@r 1. SR-HT fawm &
Department Y
vakeha 2. Head of BXCI® b Hrateme 2. SEHRI o
. Sit aksha :
b. Sitadhy De partment T
c. Suradhyaksha 3. Treasurer c. gueay 3. SHIUTEET
d. Pautwadhyaksha 4. Head of Royal Land d. Nqareas 4. ORI i # ey
Code : /e
(A) a-1,b-2, ¢-3, d-4 (A) a-1,b-2,c-3,d-4
(B) a-1,b-3, c-2, d-4 (B) a-1,b-3,c-2,d-4
(C) 3‘3, b-2, C-4, d-1 (C) a-3, b'27 0'4: d'l
(D) a-3,b-4, c-2,d-1 (D) a-3,b-4, c-2, d-1
85. Which one of the following is correctly 85. Fmfeiiad &+ wdl gafera @ 7
matched ? ;
1. §% - Hifges Hifa
1. Bank Rate —  Monetary Policy
2. - TSR fifer
2. Tax —  Fiscal Policy 3
3. W R - SEen fifa
3. Repo Rate - Population Policy
4, SCHRT - Hifges fifa
4. Budget Deficit — Monetary Policy
Code : e
4 1,2 G
B l, (B) 1’ 4 X
(B) 1,4 [E E;‘
©) 2,3 © 2,3 e
\
C
-24-
— L
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which of the following stnlcme"m ,
B ‘S/;\r
e

5 92/24
80 yrong °
atement-1 : The function o g6, fr=fafaa # & #-a1 %97 e R 7

= mote the cooperatj NIy A _

mdpcfrf; - ive ang c°‘“D£iyr°g iy oAl : e M w1 wE T v

feactam™ Ivg .

. wferifirergot deeame t a@En 2 )
Smtement-ll .The. functiop of Ny
to promote centralised planyy U\;%gi FHUA-II : Aifd 3T F B HiRa
p §
(A) Only Statement-] j5 Wrong AT T T &A1 2 |
(8) Only Statement-IT is v, i (A) I FYA-] A &

() Both Statements are copyeq (B) Sheel HYA-II TEd @

(C) A1 A T R
(D) Bt HYF TIEA &

(D) Both Statements are Wrong

g, Asmall textfile used for storing iy
et

user’s website preferences whjje Visitip 7. %66 W IS WA-AR AN R
g the

same Webpage again and agajn TR maﬁ + qEEEe
Tfrraia B Sk % g sTEm
(&), Gandy (B) Cookie H TN TR T B I B
(C) Pie (D) Donut (:::)) j‘rlj (B) ?;z
D)
. Match the List — I with List —
’ the code to give covr?;:tlz;::w:rl :and choose 88. HEl - Il Gt - 1§ gfera hifvrg wE =
List - I List— 11 & ™ ws @ wdt 3w G
a. WTO 1. Bank rate T -1 -{:Eh -1l
b. RBI 2. Free Trade a AR 1L TWR
c. MSP 3. Sustainable b. SIS, 2. I SR
development c. WAL 3. Haq o
d. Poverty 4. Agricultural d. Tt 4. F Ryow
Marketing %
Code : RS ol oa
a b ¢ d .
W1 2 3 4 %%ﬂ A
B3 4 5 | o0 ®)3 4 2 1
€2 1 4 3 G2 1 4 3
D2 4 3 2 4 3
\ Hpae s

-25- C
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by

vy L' 89. . gzl
& pDun$ are catcd s aﬁ%m ﬁ-'-% ? fy %ﬂ % T@H 11
co.  Flat Valleys called 2 alay? d High® (A) TE e )
(A) Between Trans Hif RS %’T'FW % Ty
Himalaya _— and Lesser (B) == feurery we Y i
(B) Between Higher Him % Y
Himalaya jaya a0 shiwalik (©) g femer wa Rrarferss & Ty
Himala
(C) Between Lesser i o .
(D) Between Shiwalik and Tons ) Trafers @ A4 R ey
s is not 90. Fft senfirs .

90.  Which of the following lﬂd“s“?’v R0 o 3 fon ST TR 20111
included inthe core list' % L3 ST B BR Gy § iy
industrial production series 20111.' : T R T R o
(A) Coal (B) Fertilizef (A) ST (B) &

(C) Chemical ®) Electriclty ©) @™ (D) Tereht

91. Choose correctly matched pair out of the 91. ﬁ'q | L} gﬂm W HT T Eﬁﬁﬁ :
following : (A) ﬁm?ﬁum o
(A) Simlipal - Assam

B) §<&F - I
(B) Sunderban — Odisha (B)
(C) Panna - Chhattisgarh (C) o= -  odiwe
(D) Manas —  Assam (D) 98 - 3Eq

92. Match List - I with Ijist—II anfi select the 92. §=H - E| gt -1 @ gafera e 3
correct answer by using code given below the I@Tﬁ I fewmg FEH S wa
lists. ﬁﬁq |

List -1 List-II @ 1 ‘Eﬁ o
a. Article 16 1. Right to Education i £
b. Article 17 2. Abolition of Titles a SIS 16 1. TN 0 A
c. Article 18 3. Abolition of b. :ﬂﬁa 17 2. TR I 3:{3
untouchability c. AI=OQ 18 3. JTETIICT I 3d
d. Article21 A 4. Bquality of opportunity d. FFDT21A 4. T Felw & Fom
In matters of public T IYaEL i Gl
i employment e
ode :
a b ¢ d
a b ¢ d
A 2 3 1 4 EARALE] A 2 3 1 4
® 4 3 2 | ke @. 4 3 2 1
© 1 23 4 © 1 2 3 4
D) 3 2 1 4 =
D 3 2 D
e T
C
26~
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| ﬁ who among the followin
93

Lo 8
prime Ministers of ]ndia 2 Camq D

92/24

fr=fafga # @ Fa-9 g % 39 guEh
T 7

1. Al 2
2. SATSHEE 1|
3. 8. o, =g
4. TG I

5. =or T

F= fou e e i wEEa ¥ T W =
Wiﬁ%ﬁ{:

(A) 1, 2, 4 35
B) 1, 3, 4 3 5
(C) 1, 2,3 3N 4
D) 1, 2, 3 35

IEHA, TN fearew ane % Iwdm %
HISH ¥ SR 5 T T9R SO 3 e
S ® | g8 Feffea § o R it
e e 2

(A) TS FHHTS TTTHH

(B) WThehat I 3T0HE

(C) I~ T

(D) WA~ T

95.

ST 5 ST 3, Fraterss e 3

it §

(A) THE % oo Traitra vem

(B) TSA foum wwialt % e Faifhm
e

(€) T % Fraffer 7o wivie 2 oo 3
RS

(D) T T st 3 e om wrnte
N TR ¥ Ty

. Qp'dly
1. Morarji Desaj 93.
2. Jagjivan Ram
3. Y. B. Chavan
4. Chandra Shekhar
5. Charan Singh
Select the correct answer fy, ...
given below : Y Using Code
A) 1,2, 4 and 5
B) 1, 3, 4 and 5
© 1,2, 3 and 4
D) 1, 2,3 and 5,

o4, An operating System enables a perSon to o4
commumcat.e With a compugey through e e
of symbols, icons, pointing devices, ete. I
which of the following wil1 it be classified 9
(A) Line command interface 0|
(B) Graphical user interface M<EME
(C) Tap-user interface
(D) Black-user interface | "

9. The Electoral College for the election of the
Vice-President consists of ©
(A) Only elected members of the Parliament
(B) Only elected members of the State

Legislative Assemblies
(C) Both elected and nominated members of

the Parliament _ i

- : ers of

(D) Both elected and nominated memb

the State Legislative Assemblies

\\ -t
=27-

Scanned with ACE Scanner



B s

D |

)
Eﬁ 92124
5 \ 1< found 96, , ,
b Gl el nployment” 18 foun g o ot o frg & 8 i
96. In India, “disguised unct ] STeft % !
in which sector ? - ural sector "
(A) Industrial sector (B) Agnict sector ) & (B) ‘_’fﬁ' ?«}5{
(C) Trade sector (D) [nsurance (C) =R &= (D) sffm &
. rect ? 97, :
97.  Which of the following pair 18 not cor’ ﬁ":f 4§ -1 RRL =l e % ?
(A) Kharif — Major crops are rice, Maize, (A) Tl% - yq@ ‘Fﬂﬁ =TS, HFHI,
jowar, bajra and cotton SAR, 9IS Td U™
(B) Rabi— Major crops are wheat barley; (B) T -y e T, S, SR, =
jowar, gram and oil seeds w foerga
(C) Zaid — Major crops are rice, MaiZ® (C) ST - o Wt SIefed, e,
groundnut, vegetables and fruits Thelt, Tiew T ®a
(D) Mixed Cropping — Animal }}usbandfy (D) T &< - ?’fﬁ JeaTed ¥ fm
without agriculture production TR 1)
98. Match List — I with List — I and choose the 98. Tt -1 E‘—,ﬁ e | ﬂ'ﬁﬁ"ﬁl $ife 3k
correct answer with help of code given below : = ﬁ{q M ;Ea T ITANT H TE I H
List -1 List —II RE E';”?"Q :
(Ancient Sites) (Archaeological q:‘ﬁ -1 H?" -1I
Excavations) (TR T2re) (IR i)
a. Lothal I. Ploughed field a. T L 1§ @
b, Kalibanga 1L Dockyard b. I 1L 9IGTE
c. Dholavira III Terracotta replica of LR c. HiaTEta II1. &1 h TR
T TP L.
: . z d. IV.
d. Banavali  IV. Inscription showing B 5
10 huge symbols of B SN
Harappan script et Rree
Code:
%!
(A)al bIl cIl d-IV (A) a1 bIl cIII d-IV
(B) - b-I oIV d-III @B) a-Il bl cIV d-III
© al bl ¢IV 411 ) al bl oIV dIII
D) &Il bI eI drIv @) all bl oIl dIV
228-
‘ - J
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4

9%

100.

given below are two Statemepy

o 92/24
25 Assertion (A) and the othey le‘ab“"leq
99,
geason (R). Answer by veing by, 9. ¥ Q Toa=n Ru R | T | BT (A)
Co

ay

elow- ® Bivey TA G B BN (R) FE TR | FE D
Assertion (A) . Deln()graphic d]vlde BRI -g I é‘i%ﬂﬂ \
nd . o N
in the rate of economic groy, e Barig T (A) : ST S T e w2 wesie
. On.:. "
share of working age peqple ;. " * tising SEEIT 3 TioTEE Sga i 9fg @
Opu

. 2t :
Reason (R) : A falling by, ficias: on, ! TR T el Sl 8 |
adg

1 :

in the age-structure of the POpulaioy *ashify THROT (R) : T T T & SO &=

Both (A | TiEfda =@ R |
(A) Both (A) and (I%) are true gpg ®isg, ' '

correct explanation of (A) " A) (A E11 8 (R)aﬁ TR ® 3 R), (A) b1
(B) Both (A) and FE TR
(B) Both (A) and (R) are trye, but (R) 5 notp : ;

correct explanation of (A) (B) (A) 3R (R) ! T &, T (R), (A)
(©) (A) s true, but (R) is false R e

. O (A y R

(D) (A) s false, but (R) is trye DR S R

(D) (A)TTeE &, TR (R) T B
Which European country joined North

| 100. 43, 2023 H HH-T [ W 7Y
Atlantic Treaty Organization (NATO) on 4™

April, 2023 ? et wft Te () = vew = 2
(A) Norway (A) A

(B) Denmark E%% ®) T

(C) Finland ©) Trie

(D) Ukraine o) B

Scanned with ACE Scanner



